i 8i(0r, ¢, o1) N; a; bi Ci di

1 2 cos? Ppr(1 — sin? B1 cos? ¢r) | A0(0)]? 1 D C -S

2 sin? (1 — sin? Oy sin” gr) |A;(0)[2 1 D C -S

3 sin? gy sin? Oy |AL(0)? 1 -D C S

4 — sin? P sin 207 sin @1 [A(0)[]AL(0)] | Csin(éy —&)) | Scos(dy —&)) | sin(éL =) | Dcos(6L —4))
5 % sin 2¢pr sin? 67 sin 2¢7 |A0(0)[|A}(0)] | cos(é) — o) | Dcos(d)—d) |Ccos(dj—dp) | —Scos(d) — d)
6 % sin 2ipr sin 267 sin @ |Ao(0)||AL(0)] | Csin(6, —&p) | Scos(6y —&p) | sin(6, — &) | Dcos(é, —dp)
7 2(1 — sin? 6 cos? 1) |As(0)|? 1 -D C S

8 % 6sin I,DT SiI‘\2 Ot sin2(pT ‘As(o) | |AH (0)| CCOS(&H - 55) S sm(&H - 55) COS(&H - 55) D s1n(5H - 55)
9 1V/6sin Py sin 267 cos g1 |As(0)||AL(0)]| sin(d, —ds) | —Dsin(d; —ds) | Csin(d, —ds) | Ssin(é, — ds)
10 | £3/3cos pr(1 — sin Oy cos? gr) | |As(0)]|Ao(0)| | Ccos(dg —Js) | Ssin(dp —ds) | cos(dg —Js) | Dsin(dy — Js)



